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Lesson 8 Practice Problems
1. A tetrahedron is a triangular pyramid with 4 equilateral faces. Han has a box of tetrahedrons with each of the 4 vertices marked with one of the numbers 1, 2, 3, and 4. He rolls one tetrahedron and makes note of the number on the vertex that points up. After rolling this tetrahedron 10 times, he notices that the number 1 appears five times.
· Han suspects that this tetrahedron is weighted in some way to make 1 appear more often than the other numbers. Using another tetrahedron from the box that he has confirmed is fair (all of the numbers tend to be rolled with equal frequency), explain a process Han could use to gather evidence to show whether this tetrahedron is also fair.
1. A spinner is divided into 3 equal sections labeled A, B, and C.
1. Based on probability, how many times would you expect the spinner to land on C after spinning 30 times? Explain your reasoning.
1. After spinning the spinner 30 times, the frequency of the outcomes is: A 9 times, B 8 times, C 13 times. Is the number of times the spinner landed on C reasonable based on your expectations? Explain your reasoning.
1. The spinner is spun 3,000 times. Give an example of a number of spins that result in C that would be possible, but unusual. Explain your reasoning.
1. Based on classical genetics, two heterozygous parents should pass on the recessive trait to their children  of the time. A researcher puts 20 fruit flies that are heterozygous in a container, then examines the children. 46 of the 100 children have the recessive trait. Is there reason to believe something is wrong with this experiment? Explain your reasoning.
1. The weight of each cookie in a batch of a certain type of commercially produced cookie follows an approximately normal distribution with a mean of 11.32 grams and a standard deviation of 0.03 grams. Approximately what percent of the cookies weigh between 11.32 and 11.35 grams?
· (From Unit 7, Lesson 6.)
1. When Elena throws a shot put during track and field practice, it travels an average of 26 feet with a standard deviation of 3 feet, and the distribution of lengths is approximately normal. Approximately what percentage of her shots will travel less than 23 feet?
· (From Unit 7, Lesson 7.)
1. Priya looks at this histogram of a distribution with a mean of 5.6 grams and a standard deviation of 1.4 grams. She claims that approximately 68% of the data is between 4.9 and 6.3 grams. What is the error in her thinking?
· [image: /app/tmp/embedder-1671002566.124662.png]
· (From Unit 7, Lesson 7.)
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